


Suppose f(z) = x* + z. Find the slope of the tangent line to the graph of y = f~'(z) at the
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If R the total resistance across a circuit is given by 1/R = 1/R; + 1/R, for two
resistors with resistances R; and Rj, how fast is the total resistance changing when
Ry = 5, Ry = 10 and Ry is changing at 1 ohm/s and R, is changing at 2 ohm/s?

A. 2/3 ohm/s
B. 5/7 ohm/s
C. 9/2 ohm/s
D. 4/5 ohm/s
E. 4/3 ohm/s
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Find the number ¢ that satisfies the conclusion of the Mean Value Theorem for the

function f(z) = z* on the interval [0, 8] (that is, a = 0 and b = 8).
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The derivative of a function g is ¢’(z) = sin z — 8in 2z, so that z = 0 and z = x/3 are
critical numbers of g. Then, g has
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a local minimum at 0 and a local maximum at /3
a local maximum at 0 and a local minimum at /3
a local maximum at 0 and an inflection point at x/3

a local maximum at x/3

Mo oW

inflection points at 0, x/3

0 x=o0, x:=%
s - + 4
s--;‘-l'o < 0)
e — T = ey

¥20 2 ¥/3
celativt maX &¢ X300 (+9.)
relative min &t X3Tfp (-a¢)

Sl



1 1 1

74 3
12

o . . . S . ¢
How many inflection points does the graph of y = =N T have?
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Let f(z) =21 —8z? for -1 <z <3.Ifm, is the absolute maximum of f and ms
is the absolute minimum find m; 4 ma.
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Given that f'(z) > 0 when -1 < z < 0 and 2 < z < 3, and f'(z) < 0 when
-2<z<—f AN U <z < 2, which could be the graph of J7 S (L1 (-“.)
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If the sum of the length of the legs of a right triangle is 7, what is the minimum length

of its hypotenuse? l,
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Find the maximum possible volume of a cylinder that is inscribed in a cone of diameter
2 and height 2. S——
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